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sleoriflwcd / ZOOLOGY
(B0 HMID <y hidla @J@ / Tamil & English Version)

&6 2ema] : 3.00 wenfl Corw | [ Qurss wHUQuaTse : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70

Sfleyenraet : (1) <@aiss elamss@sb sfwurs ufeourd o drarsr 6T 60T LI & &0 6T
Flluriégs Qarerera)n. @iFaiudeld Gopulmibear <@
sarsranfluuremflid 2 1angwirs Qsfelssey L.

(2) Beod ez sBUY ewu@ma i @GCL ersiaIsDHED
3l &CHTI(HeugsM@HD LWeTLHSS Couamr()iL. LLfiser UETEUSM (S,
Cuarfle Liuemi(h&geLn.

Instructions : (1) Check the question raper for fairmess of printing. I¢ there is any lack of
fairness, inform the Hall Supervisor imrediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

LS - I/ PART -1
GOl : () Sjewesg lamssErsE almiwaflEsab. 15x1=15
i) Gsr@ssiuul@erer wrHm el sealled Weseybd ehHyemLw
aflenLenws Coipls®hssd GHULGLer el uwlamannd Caigs)
GT(PSELD. |
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. premeni euhmsmiey Qussgdlenan . QULESSIDL anmiClorer org?

(1) QuaGLreaflan (<=1,) Geeer

(@) &G e (rr)  eurGenmiirenend) e
The hormone which regulates the circadian rhythm of our body is
(a) melatonin (b) melanin

(c)  oxytocin (d) vasopressin

2.  pprmsuder Fienio LGS :

(1) Qenemray (=) gECrmdlwenr BL&
(@) Hafiprii@ G () @aldrremrer BL&
The pointed portion of the elbow is :

(@) symphysis (b) acromion process
(c) glenoid cavity (d) olecranon process

3. ehg auensurl () smedl Lrésmer LbHw P elleurrusenar Qameim(erarg)?

(<21) CrCGermdlyme L (=) amstium’ G dneyCsrd
(&) QaprGuflwib (FF) smeurb

Which taxoncmic id gives comprenernsive information about a taxor:
(@) Monogiaph (b) Taxonoinic kev

(¢) Herberium (d) Flova

4.  geupren aunrsSluganss Caib0sHEsa .
(=) Bl&Camgar, Uemsiyssmed gnam samiqw GurasL] Clum@eTTELD.
(<) Al&Casrdlev LHMD <6v@uaCLTad 6 Osrifley erihs sours
Grmiserm@ELb. ‘
(&) erboeuifior wHmDd HTECEMU LTsefussTd THuUGHDS.
(/) BlCwraflur eremug mepruireser elridlu Hlevawmgib.
Find the incorrect statement :
(a) Nicotine is the stimulant of smoking.
(b) Silicosis and asbestosis are occupational respiratory disorders.
(c) Emphysema and Tuberculosis are caused by bacteria.
(d) Pneumonia is the inflammation of lungs.

Send Your Questions and Answers to Our Email Id - padasalai.ne%@&f‘ﬂﬁ]ﬁgaw ith CamScanner


https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

3 3437(NS)

gaerL O uery GsramL eleerum () aems Gambluiarnd

(=) Qeodanmies (<o) S Lsmh (@) Grbwr (F) &
The game breed noted for its pugnacity is : '

(@) Leghom (b) Chittagong (c) Brahma (d) Aseel
Qurmsss

(1) eomevGovm Ggager (i) cuemeTSEaME L|(LHEHSEET

(2) &L Gsesar (i) GoevayLedlaar

(3) @@mrr@mr@@rﬂs'arv (iii) @Gmrr&(‘éurrurr

(4) abGrenswieer (iv) sLenLLj(ps&aar

(1) (-G, @), GG @)

(=) ()-) -0) (3)-(1), (4)-(it)

(@) (-G, (2)-(ii), B)-Gv): (4)-0)
() (L)), 2)-(v) ©)-6) -1)

Matcl: :

(1) Lasso cells (i) Moliusca

(2) Flame cells (#), Annelida

(3) Chlorocruorin (iij) Ctenophora
(4) Haemocyanin (iv) Platyhelminthes
(@)  (U)-(ii), (2)-0v), @) 4-0)

) (V-(v) -, @)-6 @ -(iid)

© (V-G @), G- 4)-()

@ (O-(i), @) G0 (4) (11)

Hodr o (FAUTEESHDEG GPPDS SHeTe] RirsCamauujeiw 2 s :
(=1) @uemuar pédlear (<) wilwm Bédlaer
(m) wianfle fadlsar

't of water to produce urine are :

(@) <o Comerflwm ﬁasa‘éla;m
Ammals requu‘mg minimum amoun

(a) chemotelic (b)
(d) uricotelic

ureotelic
(c) ammonotelic

[ S@ye / Tumn over
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sOedred - smemub Qurgpretsder gever _ @UUL{HdTerg).
(<) Beflcvevaien 2anp

(FF)  edluitgen Lolg.LIL&eT

4

8.
(1) sm& WIg LIl &6T

(&) 4 sOé6 sos
The opening of the hepato-pancreatic duct is guarded by :
Glisson’s capsule

(@) Gastric rugae (b)
Crypts of Leiberkuhn

(c) Sphincter of Oddi (d)

9. GsmglL QL gmg sflrer @emearuLer Hrliys :
i) yssss Ceeyersar -
@ - Gzer
(<=1) Beiser ; Qréss@Laosdr HirbiGw Fenruire
(<=2) @(MeuUTLPEAEET ; PLpF&EEHLPED
(Q) elgpaav ; Lsss Hienruire
(rF) inewTL(LP&EET ; ereflui aflFeue

Fill in the blarniks with correct matching pair :

(i) DBookgills - __ 1
(i) | | - Scorpioris
(a) Fishes ; Vascuiarised lungs

(b) Amphibians ; Tracheal tubes
(c) Limulus ; Book lungs

(d) Earthworms ; Simple diffusion

10. ypGsemar Goams wrHmd Cprd :

(<=1) ewaGuae (=) ensGoa

(@) @ereurGLav

The enzyme which converts nectar to honey :

(FF)  OGevei

(a) lipase (b) zymase

(c) invertase (d) amylase
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BIGWLL S TIDLSGET 6Tl Srenrliuh S ermen?
(=) ullmdlon (<) spr

Pneumatic bones are found in

(&) souener (F) ymm

(a) Whale (b) Shark (c) Frog (d) Pigeon

uredliymen Gleuafled B CLrCuordym.9s (PET) evCaen 2 LCwrsliubh&gieug)
(1) SAs&Sloutiy sdlirser (<) sdlireiss pGamGLriiLgsar
(@) yp 2asré sdliser () BCwmad

Positron Emission Tomography (PET) uses :

(a) IR waves (b) Radio isotopes

(c) UV rays (d) Ultrasound

wafly gpeemilen eruuEs Halid ewwinrs QswaLBHng?

() umaren () Seumssv
(@) ewawIGLIrESTLLE (/) Smigpenar
Which part of human brain acts as satiety centre ¢

(a) Pons (b) Thalamus
(c) Hypothalamus (d) Cerebellum

eulICrrQarrevl_Haar, GusCrmGumseT whmib wrevl. QFdser <,dwuame
srenTlL(Heug) :

(<) &rid eragefluib (<) BBSOsRIOLS Ha
(@) gfCurart Ha () <gCumen d&
Fibroblasts, macrophages and mast cells are present in

(@) Glandular epithelium (b) Cartilage tissue

(c) Areolar tissue (d) Adipose tissue

[ SiLiys / Turn over
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@O0l (A) : @résé Aaliugnsseld o &, owlGLrsramgflum,

ACUNCembser LHmiIL s Id6TTs auenaLidemeTe) Gurmrenp GlFed
BleTemm UL ST SranrliuiLeSldena.

smewid R) : idlsorar afGorEGarmimar Gsrdraugdn gpab e

Qeerseflen <y sadlmer arpLsdnemar oafsgé Ganerslamper.
(A) - &f OB (R) - ;' @erme (R) - (A) -eow sflwrs edfleréseiledama.
(A) - &M OO (R) - &f; (R) - (A) -eow edars@GHns.
(A) - seum g emmed (R) - & .
(4) - &l LHHID (R) - seug)

Assertion (A) : The red blood corpuscles are devoid of nucleus, mitochondria,

ribosomes and endoplasmic reticulum.

Reason (R) : The absence of these organelles maximises the oxygen carrying

capacity by accommodating more haemoglobin.
(A) is correct and (R) is also correct but (R) does not expiain (A).
(A) i5 correct and (R) is also cofrect; (K) explains (A).
(A) is wrorig but (R) is correct.

(A) is correct and (R) is wrong.

L@dl - I/ PART - II

steneuCuenid Ml ellammésErss ellenelsseyb. eflemm oremr 24-5(5,
sL_Lmuwns edem_weflésaLn. 6x2=12

Answer any six questions. Question No. 24 is compulsory.

o Lpgl @aurghb samwlla Igliuamiubld o aranin 2 LHEh
o e wieneuser ereuaumm LAflsasliuplemmenr?

How are eucoelomates classified based on the mode of formation of coelom ?

QenGermL Crml - GMILL euanys.

Write a note on GERD.

15.
(=)
(<)
(&)
()
(b)
(©)
(d)

Goluy :

Note :

16.

17.

A
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ELSFCHTIGa LWLenSHenerT auflens i (HS5GIS.

Enumerate the uses of stethoscope.

QanenGa cuanaray Berdden oiiq il uda Qo o LIF 6NN uamsULOSIHS.

Classify nephrons based on the length of Henle's loop-

FSTHERMLW CaUETEETILIE) &S FISATHETDHD Qeueteneriigmdaeiad (HHS)
CoumuB 815

Bring out the differences between granulocytes and agranulocytes.

4D Geopurl® Gpm, Qar(iEGHHECETDS Cpmw <& weudPHlp & e
aneul_LLolem Genpun(p wHmib Crmar ipl@dlsmar eTpIis.

Mention the deficiency and symiptoms of 4D-syndrome and Pernicious Anaemia.

E)vae D(HSHI LD Lmdl GO TS,

Cive a note cn Physiotherapy.

_oyaravGLTGLomEe GTEDITE) GTEwTen?

What are anastomoses ?

&Q&&WL@@@@_@@W@Q@@W T(PTIS.

(i) pLideT pSMS i) &raEGarsanmae
(i) BLEsHY D (iv) <ievsrila
Identify the phylum for the following:

() Apple snail (i) Saccoglossus

(iii) Star fish (iv) Ascaris

[ Sliys / Turn over
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L@S - 11/ PART - 111

GOlLyY : sremeuGuigyih M1 eflenréaense el wallésab. eflanm eram 33-&5@

SL_Lmuions aflen_wefl&Ese]b.

Note : Answer any six questions. Question No. 33 is compulsory.

25.

26.

27+

28.

29.

QU@ buTerer dllon@ Hassaienr Apriy shd L sar QedsEnsdaLGw
éIGEDLDuLlﬁ;!ﬁu_lrrem wHmb Qewudfdurer Geameariysmer ghHUdSSISeTE.
Sleueuasirear G shélliLsamer eflemss. '

Most of the animal tissues have specialised junctions to provide structural and functional
links. Explain the types of cell junctions.

@@ wallger, Lmss QAsrfpsraandd sLps 15 yar@sdrs Gama C&iig)
GU(mHE M. <SIIBI(GETET Ga I G]urr@l'_asa'T DlQU(HENLUI HEUTE LITenSE6n (L] urrglcé_'r;gj
seauresglan Lenflsemeryd 50585 seurs wamoddar e Lenlsmer
SeUHEEG UL gl (D& Fams.

A man has been working in a cotton industry for the past 15 years. The dust in iie
industry affecied his respiratcry tract thereby hindering respiratory functions. List out
the prirnary functions of the respicatory system to hin:.

B QFdaiem LD cuamihgl LIGhs®ais GhEsea|L.

Draw a neat labelled sketch of a neuron.

(i) euwgTaTeiser Sig&sy CpriemitL(eg ere?
@) eGUICHITgE SMULIT Grampimed eremme?
(i) Why do old people fall sick often ?

(i) What is sporodic goitre ?

Beuenarsalle, uréeud Geumum_(H SenenLo ereuemy) STLAUPRSSLILHEDS?
How is sexual dimorphism exhibited in frogs ?
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Gurr elener hmIL ;
e HMIL anreGLer elenere] LI Uy euenrs
State Bohr effect and Haldane effect. L Dﬂs} @HS] - "

30.

31. wLIMMUSSL YT
&S el 2 (Heur&H@h edleom Gr@mqasaﬂsh QUANGGHET WTENGU?

What are the different types of rib bones that form the rib cage ?

3. D :

2 RO OTEmAT SNEIEL LI Lerall eflefiue sarsr fég wals sWleybss
LDGO‘GF-I_Gl)gé]Gm prifleow Qeidmbsr. Qaraumauamaupipe o-ulflued
CEmhaemer el WTETD &b DeU(HES 2 g6l Gaweurum?

(1) Smbr sperdlswrs CollésiiuLe -

(<) Ampir sfiss@IEsTar Sidlefue Cuwi -

(@) Cserauwpy QUL samer e L alalmbs! QauaflCubhmIFe -

A s}-u’d.ent designed a model of the human excretory system for his school science
exhibition. Can you help him in finding the biological terms for the following :

(a) Temporary storage of urine
(b)  Scientific term for urination
(¢) Removai of unwailted substarices from the body.

33. [EmET BMRM ¢ AL duw A peopdda 56T I-TEL.
| LDPERMEDW -2l6w L L] TErD ST UTUMBEELD.
Naja Naja is an example for a particular type of nomenclature. Identify and define the

nomenclature type.
L@@ - IV/PART - IV

Goluy SienenEg) NSHEHSHED eflep L6l &&6,LD. 5x5=25
Note . Answer all the questions.

ANotgossdear Guilu QsrEHudaimLw Curgalmar LIGHTL| & 6n e Ll
L ig Wl (h .

34, (=)

(60608
(<) eragedls Sasaefian gCs@ID BHS) QeduTsmeTs sl SEsLEID
FHUBHL SaEameu THEGISST(HLGT Sl
(a) List the general characteristics of the largest phylum of Kingdom Animalia.
OR

(b) Name any five important functions of e
example that explains the function.

pithelial tissue and provide at least one

A [ HmLys / Turn over

Send Your Questions and Answers to Our Email Id - padasalai.ne%@&f‘ﬂﬁ]ﬁgaw ith CamScanner


https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

3437 (NS) . 10

35. () @ilfanellen apriGurer Laflsmar claurdEsalib.
sioeg |
(=) L®mSZe Bloaim QerflonLlusmsg > LCWTELILHSSID SWLUILLLL L
CLrCordlrmssQu e IDMHSSI6 PEEWSFIGULD GTETe?
(a) Discuss the functions of adrenalin hormone.
OR ]
(b) What is the clinical significance of the medical imaging technology employing
computed tomography ?
36.

(1) B 2u9f LT eueritiy s18L SroRGERND Gamemmiwl Q&’n”@ﬁb@l"—‘—”-?”@m'
Quwepapuler peremwsemer THEgEmN Qps Qzrfleon L ussHneE
AP ety THLGESS.

{060 G|

() e lsaurend wHYD Qavaliésourssdd peLQumid 151 & LD 6y & 6o T
aflansludss @Und@is.

(a) Aquaponics is a recently evclved teck

hydiopomnics.
advantages.

mique combining aquaculture and
(Create an ewareness about ihis techinique by explaining its
OR

(b) Comp:’:lre the sequential events that take place during inspiration and expiration,

37, (=1) yorelar, G seam® @néer eianorieny Q

gafleurer Lrgin Gl EL:INTRI
UL §giLen allend @,

S|60605
(<) fpgLrdle sss6m erearifaen 2 g6l L e b L Qumib Cau 9w
LorhmEisEmar euflengliLi()és)s.
(a) Describe the quill feather of pigeon with a neat labelled sketch
OR
(b) Enumerate the chemical changes that take place wj
in the small intestine. & 1th the help of Succus entericus
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38. (1) eveaur eppdleer erdliQETeT(Enh Clmgemar LirdlLiLsenar adleuflgaalL.

3|6V60G)
(=) GES LHmID Falby CEbSERESTa CoaumUTDEET GT(LHEIS.

the common problems encountered by SCUBA divers.
OR

(a) Explain
(b) Explain the differences between Rod cells and Cone cells.

-00o0-
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